

Estimates for the operator of r -th order on simplex

Maria Talpău Dimitriu

Abstract. We present general estimates with optimal constants of the degree of approximation by Kirov - Popova operators using weighted K -functionals of first order.

Mathematics Subject Classification (2010): 41A36, 41A25.

Keywords: Positive linear operators, Peetre's K -functional, degree of approximation.

1. Introduction

In [2] Kirov and Popova associated to each positive linear operator $L : \mathbf{C}[a, b] \longrightarrow \mathbf{C}[a, b]$ a new operator $L_r(f, x) = L(T_{r,f,\cdot}(x), x)$, $r \in \mathbb{N}$ (a generalization of r -th order), where $T_{r,f,y}(x)$ is the Taylor polynomial of degree r for the function f at y . This operator is linear but not necessarily positive. In [7], using same idea as in [1] we gave a quantitative estimate for the remainder in Taylor's formula using K -functional K_1^∞ and weighted K -functional $K_{1,\varphi}^\infty$ and we obtained estimates for the operator of r -th order. In this paper we extend the results for the generalization of r -th order of a positive linear operator $L : \mathbf{C}(S) \longrightarrow \mathbf{C}(S)$ defined by $L_r(f, \mathbf{x}) = L(T_{r,f,\cdot}(\mathbf{x}), \mathbf{x})$, $r \in \mathbb{N}$, with $T_{r,f,\mathbf{y}}(\mathbf{x}) = \sum_{j=0}^r \frac{1}{j!} d^{(j)} f(\mathbf{y})(\mathbf{x} - \mathbf{y})^j$, where $S = \{\mathbf{x} = (x_1, \dots, x_d) \in \mathbb{R}^d \mid x_1, \dots, x_d \geq 0, x_1 + \dots + x_d \leq 1\}$ is the simplex in \mathbb{R}^d , $d \in \mathbb{N}$.

Starting from the weight function used in [5], we consider the function

$$\varphi(\mathbf{x}) = [(x_1 + \dots + x_d)(1 - x_1) \cdots (1 - x_d)]^\alpha, \alpha \in (0, 1).$$

We denote by

$$\mathbf{C}_\varphi(S) = \left\{ f \in \mathbf{C}(S \setminus \{\mathbf{v}_i, i = \overline{0, d}\}) \mid (\exists) \lim_{\mathbf{x} \rightarrow \mathbf{v}_i} f(\mathbf{x})\varphi(\mathbf{x}) \in \mathbb{R}, i = \overline{0, d} \right\}$$

and

$$\mathbf{W}_{\mathbf{C}_\varphi}^1(S) = \left\{ f \in \mathbf{C}(S) \mid \frac{\partial f}{\partial x_i} \in \mathbf{C}_\varphi(S), i = \overline{1, d} \right\}$$

where $\mathbf{v}_i, i = \overline{0, d}$ are simplex vertices. We consider the K -functional

$$K_{1,\varphi}^\infty(f, t) = K^\infty\left(f, t; \mathbf{C}(S), \mathbf{W}_{\mathbf{C}_\varphi}^1(S)\right), t > 0,$$

defined for the Banach space $(\mathbf{C}(S), \|\cdot\|)$ and the semi-Banach subspace

$$\left(\mathbf{W}_{\mathbf{C}_\varphi}^1(S), |\cdot|_{W_{\mathbf{C}_\varphi}^1}\right), |f|_{W_{\mathbf{C}_\varphi}^1} = \|\varphi \nabla f\|_\infty = \max_{i=\overline{1,d}} \left\| \varphi \frac{\partial f}{\partial x_i} \right\| \text{ by}$$

$$K_{1,\varphi}^\infty(f, t) = \inf_{g \in \mathbf{W}_{\mathbf{C}_\varphi}^1(S)} \max \{ \|f - g\|, t \|\varphi \nabla g\|_\infty \}.$$

We use the notation e_0 for the function $e_0 : S \subset \mathbb{R}^d \rightarrow \mathbb{R}, e_0(\mathbf{x}) = 1$ and e_1 for the function $e_1 : S \subset \mathbb{R}^d \rightarrow \mathbb{R}^d, e_1(\mathbf{x}) = \mathbf{x}$.

2. Estimates with weighted K - functionals $K_{1,\varphi}^\infty$

Lemma 2.1. *If $f \in \mathbf{C}^r(S), r \in \mathbb{N}, \mathbf{x} \in S \setminus \{\mathbf{v}_i, i = \overline{0, d}\}$ and $\mathbf{y} \in S$ then $(\forall)t > 0$ for the remainder in Taylor's formula of order r we have the following estimate*

$$\begin{aligned} & |R_{r,f,\mathbf{y}}(\mathbf{x})| \tag{2.1} \\ & \leq \left(2 \frac{\|\mathbf{y} - \mathbf{x}\|_1^r}{r!} + \frac{\|\mathbf{y} - \mathbf{x}\|_1^{r+1}}{\prod_{k=1}^{r+1} (k - \alpha)t\varphi(\mathbf{x})} \right) \max_{r_1+\dots+r_d=r} K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right). \end{aligned}$$

Proof. Let $f \in \mathbf{C}^r(S)$ and $\mathbf{x} \in S \setminus \{\mathbf{v}_i, i = \overline{0, d}\}, \mathbf{y} \in S, \mathbf{x} \neq \mathbf{y}$. We consider $\psi(u) = (1 - u)\mathbf{x} + u\mathbf{y}, u \in [0, 1]$ and $h(u) = f(\psi(u))$.

Step 1. We prove that

$$|R_{r,f,\mathbf{y}}(\mathbf{x})| = |R_{r,h,1}(0)| \leq \left(\frac{2}{r!} + \frac{1}{\prod_{k=1}^{r+1} (k - \alpha)t\varphi(\mathbf{x})} \right) K_{1,\varphi \circ \psi}^\infty(h^{(r)}, t). \tag{2.2}$$

Let $g \in \mathbf{W}_{\mathbf{C}_{\varphi \circ \psi}}^{r+1}[0, 1]$. Let us now make use of the fact that the function

$$u \mapsto \frac{1 - u}{\varphi(\psi(u))^{\frac{1}{\alpha}}}, u \in (0, 1)$$

is decreasing [5]. Using the integral form of the remainder we have

$$\begin{aligned}
 |R_{r,g,1}(0)| &= \left| \frac{1}{r!} \int_1^0 g^{(r+1)}(u)(0-u)^r du \right| \\
 &\leq \frac{1}{r!} \int_0^1 |(\varphi \circ \psi)(u)g^{(r+1)}(u)| \frac{u^r}{(\varphi \circ \psi)(u)} du \\
 &\leq \frac{\|(\varphi \circ \psi)g^{(r+1)}\|}{r!} \int_0^1 u^r \frac{1}{(\varphi \circ \psi)(0)(1-u)^\alpha} du \\
 &= \frac{\|(\varphi \circ \psi)g^{(r+1)}\|}{r! \varphi(\mathbf{x})} \int_0^1 \frac{u^r}{(1-u)^\alpha} du \\
 &= \frac{\|(\varphi \circ \psi)g^{(r+1)}\|}{r! \varphi(\mathbf{x})} B(r+1, 1-\alpha) = \frac{\|(\varphi \circ \psi)g^{(r+1)}\|}{\prod_{k=1}^{r+1} (k-\alpha) \cdot \varphi(\mathbf{x})}
 \end{aligned}$$

where B is Euler beta function.

We have

$$\begin{aligned}
 |R_{r,h-g,1}(0)| &= \left| (h-g)(0) - \sum_{k=0}^r \frac{(h-g)^{(k)}(1)}{k!} (-1)^k \right| \\
 &= \left| R_{r-1,h-g,1}(0) - \frac{(h-g)^{(r)}(1)}{r!} (-1)^r \right| \\
 &\leq |R_{r-1,h-g,1}(0)| + \frac{\|(h-g)^{(r)}\|}{r!} \leq 2 \frac{\|h^{(r)} - g^{(r)}\|}{r!}.
 \end{aligned}$$

Then

$$\begin{aligned}
 |R_{r,h,1}(0)| &\leq |R_{r,h-g,1}(0)| + |R_{r,g,1}(0)| \\
 &\leq \left(2 \frac{1}{r!} \|h^{(r)} - g^{(r)}\| + \frac{\|(\varphi \circ \psi)g^{(r+1)}\|}{\prod_{k=1}^{r+1} (k-\alpha) \cdot \varphi(\mathbf{x})} \right) \\
 &\leq \left(\frac{2}{r!} + \frac{1}{\prod_{k=1}^{r+1} (k-\alpha) \cdot t\varphi(\mathbf{x})} \right) \cdot \max \left\{ \|h^{(r)} - g^{(r)}\|, t \|(\varphi \circ \psi)g^{(r+1)}\| \right\}.
 \end{aligned}$$

Since g is arbitrary this implies (2.2).

Step 2. From (2.2) it results

$$|R_{r,f,\mathbf{y}}(\mathbf{x})| \leq \left(\frac{2}{r!} + \frac{\|\mathbf{y} - \mathbf{x}\|_1}{\prod_{k=1}^{r+1} (k - \alpha) \cdot t\varphi(\mathbf{x})} \right) K_{1,\varphi \circ \psi}^\infty \left(h^{(r)}, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \right). \tag{2.3}$$

Let $\varepsilon > 0$. We choose $g_{r_1, \dots, r_d} \in \mathbf{C}^1(S)$, $r_i \in \mathbb{N} \cup \{0\}$, $i = \overline{1, d}$: $r_1 + \dots + r_d = r$, such that

$$\begin{aligned} & K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) + \varepsilon \\ & \geq \max \left\{ \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g_{r_1, \dots, r_d} \right\|, t \|\varphi \nabla g_{r_1, \dots, r_d}\|_\infty \right\}. \end{aligned}$$

We consider the function

$$h_0(u) = \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} g_{r_1, \dots, r_d}(\psi(u)) \prod_{i=1}^d (y_i - x_i)^{r_i}.$$

We have

$$K_{1,\varphi \circ \psi}^\infty \left(h^{(r)}, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \right) \leq \max \left\{ \|h^{(r)} - h_0\|, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \|(\varphi \circ \psi)h'_0\| \right\}.$$

Since

$$\begin{aligned} & |h^{(r)}(u) - h_0(u)| = |d^r f(\psi(u))(\mathbf{y} - \mathbf{x})^r - h_0(u)| \\ & = \left| \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g_{r_1, \dots, r_d} \right) (\psi(u)) \prod_{i=1}^d (y_i - x_i)^{r_i} \right| \\ & \leq \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g_{r_1, \dots, r_d} \right\| \cdot \prod_{i=1}^d |y_i - x_i|^{r_i}. \end{aligned}$$

hold for u arbitrary this implies

$$\|h^{(r)} - h_0\| \leq \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g_{r_1, \dots, r_d} \right\| \cdot \prod_{i=1}^d |y_i - x_i|^{r_i}.$$

Also since

$$\begin{aligned} & |\varphi(\psi(u))h'_0(u)| \\ & = \left| \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} \varphi(\psi(u)) dg_{r_1, \dots, r_d}(\psi(u))(\mathbf{y} - \mathbf{x}) \prod_{i=1}^d (y_i - x_i)^{r_i} \right| \\ & \leq \sum_{r_1 + \dots + r_d = r} \frac{r!}{r_1! \dots r_d!} \|\varphi \nabla g_{r_1, \dots, r_d}\|_\infty \cdot \|\mathbf{y} - \mathbf{x}\|_1 \cdot \prod_{i=1}^d |y_i - x_i|^{r_i}. \end{aligned}$$

hold for u arbitrary this implies

$$\|(\varphi \circ \psi)h'_0\| \leq \sum_{r_1+\dots+r_d=r} \frac{r!}{r_1! \dots r_d!} \|\varphi \nabla g_{r_1, \dots, r_d}\|_\infty \cdot \|\mathbf{y} - \mathbf{x}\|_1 \cdot \prod_{i=1}^d |y_i - x_i|^{r_i}.$$

Then

$$\begin{aligned} K_{1, \varphi \circ \psi}^\infty \left(h^{(r)}, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \right) &\leq \max \left\{ \|h^{(r)} - h_0\|, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \|(\varphi \circ \psi)h'_0\| \right\} \\ &\leq \sum_{r_1+\dots+r_d=r} \frac{r!}{r_1! \dots r_d!} \prod_{i=1}^d |y_i - x_i|^{r_i} \cdot \\ &\quad \cdot \max \left\{ \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g_{r_1, \dots, r_d} \right\|, t \|\varphi \nabla g_{r_1, \dots, r_d}\|_\infty \right\} \\ &\leq \sum_{r_1+\dots+r_d=r} \frac{r!}{r_1! \dots r_d!} \prod_{i=1}^d |y_i - x_i|^{r_i} \left(K_{1, \varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) + \varepsilon \right). \end{aligned}$$

Since ε is arbitrary this implies

$$\begin{aligned} K_{1, \varphi \circ \psi}^\infty \left(h^{(r)}, \frac{t}{\|\mathbf{y} - \mathbf{x}\|_1} \right) &\leq \sum_{r_1+\dots+r_d=r} \frac{r!}{r_1! \dots r_d!} \prod_{i=1}^d |y_i - x_i|^{r_i} K_{1, \varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) \\ &\leq \|\mathbf{y} - \mathbf{x}\|_1^r \max_{r_1+\dots+r_d=r} K_{1, \varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right). \end{aligned}$$

Finally, with (2.3) result (2.1). □

Theorem 2.2. *Let $r \in \mathbb{N}$, $L : \mathbf{C}(S) \rightarrow \mathbf{C}(S)$ a positive linear operator and $f \in \mathbf{C}^r(S)$. Then $(\forall) \mathbf{x} \in S \setminus \{v_i, i = 0, d\}$, $(\forall) t > 0$ we have*

$$|L_r(f, \mathbf{x}) - f(\mathbf{x})| \leq |f(\mathbf{x})| \cdot |L(e_0, \mathbf{x}) - 1| \tag{2.4}$$

$$\begin{aligned} &+ \left(\frac{2}{r!} L(\|e_1 - \mathbf{x}e_0\|_1^r, \mathbf{x}) + \frac{L(\|e_1 - \mathbf{x}e_0\|_1^{r+1}, \mathbf{x})}{\prod_{k=1}^{r+1} (k - \alpha)t\varphi(\mathbf{x})} \right) \\ &\cdot \max_{r_1+\dots+r_d=r} K_{1, \varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) \end{aligned}$$

Conversely, if $(\exists) A, B, C \geq 0$ such that

$$|L_r(f, \mathbf{x}) - f(\mathbf{x})| \leq A \cdot |f(\mathbf{x})| \cdot |L(e_0, \mathbf{x}) - 1| \tag{2.5}$$

$$+ \left(B \cdot L(\|e_1 - \mathbf{x}e_0\|_1^r, \mathbf{x}) + C \cdot \frac{L(\|e_1 - \mathbf{x}e_0\|_1^{r+1}, \mathbf{x})}{t\varphi(\mathbf{x})} \right) \cdot \max_{r_1 + \dots + r_d = r} K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right)$$

holds for all positive linear operator $L : \mathbf{C}(S) \rightarrow \mathbf{C}(S)$, any $f \in \mathbf{C}^r(S)$, any $\mathbf{x} \in S$ and any $t > 0$ then $A \geq 1$, $B \geq \frac{2}{r!}$ and $C \geq \frac{1}{\prod_{k=1}^{r+1} (k - \alpha)}$.

Proof. From Lemma 2.1 we have

$$\begin{aligned} |L_r(f, \mathbf{x}) - f(\mathbf{x})| &= |L(T_{r,f,\cdot}(\mathbf{x}), \mathbf{x}) - f(\mathbf{x})| \\ &= |L(f(\mathbf{x})e_0 - R_{r,f,\cdot}(\mathbf{x}), \mathbf{x}) - f(\mathbf{x})| \\ &\leq |f(\mathbf{x})| \cdot |L(e_0, \mathbf{x}) - 1| + |L(R_{r,f,\cdot}(\mathbf{x}), \mathbf{x})| \\ &\leq |f(\mathbf{x})| \cdot |L(e_0, \mathbf{x}) - 1| \\ &+ \left(\frac{2}{r!} L(\|e_1 - \mathbf{x}e_0\|_1^r, \mathbf{x}) + \frac{L(\|e_1 - \mathbf{x}e_0\|_1^{r+1}, \mathbf{x})}{\prod_{k=1}^{r+1} (k - \alpha)t\varphi(\mathbf{x})} \right) \cdot \max_{r_1 + \dots + r_d = r} K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right). \end{aligned}$$

which is (2.4).

We prove now the converse part. If we choose $L(h, \mathbf{x}) = 0$ and $f = e_0$ and replace in (2.5) we obtain $A \geq 1$.

To show that $B \geq \frac{2}{r!}$ we choose $L(h, \mathbf{x}) = h(0)$ and $f(\mathbf{x}) = 2(x_1 + \dots + x_d)^{r+a}$ with $a > 0$. For $g = (r + a) \cdot (r + a - 1) \dots (a + 1) e_0$ we have

$$\begin{aligned} K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) &\leq \max \left\{ \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g \right\|, t \|\varphi \nabla g\| \right\} \\ &= \left\| \frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} - g \right\| = (r + a) \cdot (r + a - 1) \dots (a + 1). \end{aligned}$$

From (2.5) we obtain

$$\begin{aligned} &2(x_1 + \dots + x_d)^{r+a} \\ &\leq \left(B(x_1 + \dots + x_d)^r + C \frac{(x_1 + \dots + x_d)^{r+1}}{t\varphi(\mathbf{x})} \right) (r + a) \cdot (r + a - 1) \dots (a + 1). \end{aligned}$$

Passing to the limit $t \rightarrow \infty$, $a \rightarrow 0$ we obtain $B \geq \frac{2}{r!}$.

To show that $C \geq \frac{1}{\prod_{k=1}^{r+1} (k - \alpha)}$ we choose

$$L(h, \mathbf{x}) = h(0) \text{ and } f(\mathbf{x}) = (x_1 + \dots + x_d)^{r-\alpha+1}.$$

We have

$$K_{1,\varphi}^\infty \left(\frac{\partial^r f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}}, t \right) \leq t \left\| \varphi \frac{\partial^{r+1} f}{\partial x_1^{r_1} \dots \partial x_d^{r_d}} \right\| = t \prod_{k=1}^{r+1} (k - \alpha).$$

From (2.5) we obtain

$$\begin{aligned} (x_1 + \dots + x_d)^{r-\alpha+1} &\leq B(x_1 + \dots + x_d)^r t \prod_{k=1}^{r+1} (k - \alpha) \\ &+ C \frac{(x_1 + \dots + x_d)^{r+1}}{\varphi(\mathbf{x})} \cdot \prod_{k=1}^{r+1} (k - \alpha). \end{aligned}$$

Passing to the limit $t \rightarrow 0$ we obtain

$$C \geq [(1 - x_1) \dots (1 - x_d)]^\alpha \cdot \frac{1}{\prod_{k=1}^{r+1} (k - \alpha)}$$

and passing to the limit $\mathbf{x} \rightarrow \mathbf{0}$ we obtain $C \geq \frac{1}{\prod_{k=1}^{r+1} (k - \alpha)}$. □

References

- [1] Gonska, H.H., Pițul, P., Rașu, I., *On Peano's form of the Taylor remainder, Voronovskaja's theorem and the commutator of positive linear operators*, Numerical Analysis and Approximation Theory (Proc. Int. Conf. Cluj-Napoca 2006, ed. by O. Agratini and P. Blaga), 55-80.
- [2] Kirov, G.H., Popova, L., *A generalization of the linear positive operators*, Math. Balkanica (N. S.) **7**(1993), 149-162.
- [3] Păltănea, R., *Optimal estimates with moduli of continuity*, Result. Math., **32**(1997), 318-331.
- [4] Păltănea, R., *Approximation theory using positive linear operators*, Birkhäuser, 2004.
- [5] Păltănea, R., *A second order weighted modulus on a simplex*, Results in Mathematics, **53**(3-4)(2009), 361-369.
- [6] Peetre, J., *On the connection between the theory of interpolation spaces and approximation theory*, Proc. Conf. Const. Theory of Functions, Budapest, Eds. G. Alexits and S. B. Stechkin, Akadémiai Kiadó, Budapest, 1969, 351-363.
- [7] Talpău Dimitriu, M., *Estimates with optimal constants for the operator of r -th order*, Bulletin of the Transilvania University of Brașov, Vol 3(52) - 2010 Series III: Mathematics, Informatics, Physics, 143-154.

- [8] Talpău Dimitriu, M., *Estimates with optimal constants using Peetre's K -functionals on simplex*, Bulletin of the Transilvania University of Braşov Vol 4(53) - 2011 Series III: Mathematics, Informatics, Physics, 99-106.

Maria Talpău Dimitriu
"Transilvania" University of Braşov
Department of Mathematics
Eroilor 29,
500 036 Braşov, Romania
e-mail: mdimitriu@unitbv.ro, marias_td@yahoo.com